
Multiply by 100 (A)Find each product.
6,9 × 100 = 4,7 × 100 =
5,6 × 100 = 4,2 × 100 =
3,58 × 100 = 4,5005 × 100 =
0,8823 × 100 = 1,4 × 100 =
0,916 × 100 = 4,159 × 100 =
4,5 × 100 = 8,6993 × 100 =
7,4 × 100 = 5,641 × 100 =
4,7 × 100 = 7,95 × 100 =
7,4 × 100 = 6,6264 × 100 =
3,6 × 100 = 2,144 × 100 =
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Multiply by 100 (A) AnswersFind each product.
6,9 × 100 = 690 4,7 × 100 = 470
5,6 × 100 = 560 4,2 × 100 = 420
3,58 × 100 = 358 4,5005 × 100 = 450,05
0,8823 × 100 = 88,23 1,4 × 100 = 140
0,916 × 100 = 91,6 4,159 × 100 = 415,9
4,5 × 100 = 450 8,6993 × 100 = 869,93
7,4 × 100 = 740 5,641 × 100 = 564,1
4,7 × 100 = 470 7,95 × 100 = 795
7,4 × 100 = 740 6,6264 × 100 = 662,64
3,6 × 100 = 360 2,144 × 100 = 214,4
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